Solve Equations with the Distributive Property and Combining Like Terms

Jen Kershaw Brenda Meery

To access the online version of this FlexBook click the link below:

<u>https://www.ck12.org/c/algebra/multi-step-equations/lesso</u> <u>n/Solve-Equations-with-the-Distributive-Property-and-Co</u> <u>mbining-Like-Terms-MSM8/?referrer=concept_details</u>



To access a customizable version of this book, as well as other interactive content, visit <u>www.ck12.org</u>

CK-12 Foundation is a non-profit organization with a mission to reduce the cost of textbook materials for the K-12 market both in the U.S. and worldwide. Using an opensource, collaborative, and web-based compilation model, CK-12 pioneers and promotes the creation and distribution of high-quality, adaptive online textbooks that can be mixed, modified and printed (i.e., the FlexBook® textbooks).

Copyright © 2022 CK-12 Foundation, <u>www.ck12.org</u>

The names "CK-12" and "CK12" and associated logos and the terms **"Flex Book®"** and **"Flex Book Platform®"** (collectively "CK-12 Marks") are trademarks and service marks of CK-12 Foundation and are protected by federal, state, and international law s.

Any form of reproduction of this book in any format or medium, in whole or in sections, must be attributed according to our attribution guidelines. <u>https://www.ck12info.org/about/attribution-guidelines</u>

Except as otherwise noted, all CK-12 Content (including CK-12 Curriculum Material) is made available to Users in accordance with the CK-12 Curriculum Materials License https://www.ck12info.org/curriculum-materials-license

cK-12 License

Complete terms for use for the CK-12 website can be found at: http://www.ck12info.org/terms-of-use/

Printed: August 9, 2022 (PST)

cK-12

AUTHORS Jen Kershaw Brenda Meery



Multi-Step Equations

Maintain balance of an equation throughout all steps needed to solve.

Solve Equations with the Distributive Property and Combining Like Terms



[Figure1]

Eight children were given some candy. Then six different children were given the same unknown amount of candy. Next, two children were that same unknown amount of candy plus three additional pieces of candy. The total number of pieces of candy given out was thirty eight. What is the unknown amount of candy?

In this concept, you will learn to solve equations with the **distributive property** and combining.

Distributive Property and Combining Like Terms

To solve some <u>multi-step equations</u> you will need to use the distributive property and combine like terms. When this happens, you will see that there is more than one term with the same variable or there is more than one number in the equation. You always want to combine everything that you can before moving on to solving the equation.

Let's apply this to the following situation.

Solve for "m" in the following equation.

$$6(1+2m)-3m=24$$

First, apply the distributive property to the left side of the equation. Multiply each of the two numbers inside the parentheses by 6 and then add those products.

$$egin{array}{rcl} 6(1+2m)-3m&=&24\ (6 imes1)+(6 imes2m)-3m&=&24\ 6+12m-3m&=&24 \end{array}$$

Next, combine like terms (12m and 3m) on the left side of the equation.

$$egin{array}{rcl} 6+12m-3m&=&24\ 6+(12-3m)&=&24\ 6+9m&=&24 \end{array}$$

Then, solve as you would solve any two-step equation. Subtract 6 from both sides of the equation.

$$egin{array}{rcl} 6+9m&=&24\ 6-6+9m&=&24-6\ 9m&=&18 \end{array}$$

Then, divide both sides of the equation by 9 to solve for m.

$$9m = 18$$

 $rac{9m}{9} = rac{18}{9}$
 $m = 2$

The answer is 2.

Here is another example.

Solve for "b" in the following equation.

$$-4(2+3b)+5b=13$$

First, apply the distributive property to the left side of the equation. Multiply each of the two numbers inside the parentheses by -4 and then add those products.

$$-4(2+3b)+5b = 13$$

 $(-4 \times 2) + (-4 \times 3b) + 5b = 13$
 $-8 + (-12b) + 5b = 13$

Next, add the like terms on the left side of the equation. To add those like terms, -12b and 5b, you will need to use what you know about adding integers.

$$-8 + (-12b) + 5b = 13$$

 $-8 + (-12b + 5b) = 13$
 $-8 + (-7b) = 13$

Then, solve as you would solve any two-step equation. Since -8 is added to (-7b), you can subtract -8 from both sides of the equation to solve it.

$$egin{array}{rll} -8+(-7b)&=&13\ -8-(-8)+(-7b)&=&13-(-8)\ (-8+8)+(-7b)&=&13+8\ -7b&=&21 \end{array}$$

Then, divide both sides of the equation by -7.

$$\begin{array}{rcl} -7b & = & 21 \\ \frac{-7b}{-7} & = & \frac{21}{-7} \\ b & = & -3 \end{array}$$

The answer is -3.

Examples

Example 1

Earlier, you were given a problem about eight children who were given some candy. You will let "c" represent the unknown amount of candy given.

Six of the eight children were given the same unknown amount of candy (6c) and two of the children were that same unknown amount of candy plus three additional pieces of candy (2(c+3)). The total number of pieces of candy given out was thirty eight.

First, write an equation.

6c + 2(c + 3) = 38

First, apply the distributive property to the left side of the equation.

$$6c + 2(c + 3) = 38$$

 $6c + (2 imes c) + (2 imes 3) = 38$
 $6c + 2c + 6 = 38$

Next, add the like terms on the left side of the equation.

$$6c + 2c + 6 = 38$$

 $(6c + 2c) + 6 = 38$
 $8c + 6 = 38$

Then, subtract 6 from both sides.

$$8c + 6 = 38$$

 $8c + 6 - 6 = 38 - 6$
 $8c = 32$

Then, divide both sides of the equation by 8.

$$egin{array}{rcl} 8c &=& 32 \ rac{8c}{8} &=& rac{32}{8} \ c &=& 4 \end{array}$$

The answer is 4.

Therefore, the unknown amount of candy is 4 pieces. Six of the children got 4 pieces of candy and two of the children received 7 pieces of candy.

Example 2

Solve for " \boldsymbol{x} " in the following equation.

$$-5x + 3(x+1) - 4x = 45$$

First, apply the distributive property to the left side of the equation.

$$-5x + 3(x + 1) - 4x = 45$$

 $-5x + (3 \times x) + (3 \times 1) - 4x = 45$
 $-5x + 3x + 3 - 4x = 45$

Next, add the like terms on the left side of the equation.

$$-5+3x+3-4x = 45$$

 $(-5x+3x-4x)+3 = 45$
 $3-6x = 45$

Then, subtract 3 from both sides.

$$egin{array}{rcl} 3-6x&=&45\ 3-3-6x&=&45-3\ -6x&=&42 \end{array}$$

Then, divide both sides of the equation by -6.

$$egin{array}{rcl} -6x &=& 42 \ rac{-6x}{-6} &=& rac{42}{-6} \ x &=& -7 \end{array}$$

The answer is -7.

Example 3

Solve for " \boldsymbol{x} " in the following equation.

$$6(x+4) + 3x - 2 = 58$$

First, apply the distributive property to the left side of the equation.

$$egin{array}{rcl} 6(x+4)+3x-2&=&58\ (6 imes x)+(6 imes 4)+3x-2&=&58\ 6x+24+3x-2&=&58 \end{array}$$

Next, add the like terms on the left side of the equation.

$$6x + 24 + 3x - 2 = 58$$

 $(6x + 3x) + (24 - 2) = 58$
 $9x + 22 = 58$

Then, subtract 22 from both sides.

$$egin{array}{rcl} 9x+22&=&58\ 9x+22-22&=&58-22\ 9x&=&36 \end{array}$$

Then, divide both sides of the equation by 9.

$$egin{array}{rcl} 9x &=& 36 \ rac{9x}{9} &=& rac{36}{9} \ x &=& 4 \end{array}$$

The answer is 4.

Example 4

Solve for " $oldsymbol{y}$ " in the following equation.

$$6y + 3(y - 4) = 33$$

First, apply the distributive property to the left side of the equation.

$$egin{array}{rll} 6y+3(y-4)&=&33\ 6y+(3 imes y)+(3x imes -4)&=&33\ 6y+3y+(-12)&=&33 \end{array}$$

Next, add the like terms on the left side of the equation.

$$6y + 3y + (-12) = 33$$

 $(6y + 3y) + (-12) = 33$
 $9y - 12 = 33$

Then, add 12 to both sides.

$$egin{array}{rcl} 9y-12&=&33\ 9y-12+12&=&33+12\ 9y&=&45 \end{array}$$

Then, divide both sides of the equation by 9.

$$\begin{array}{rcl} 9y & = & 45 \ rac{9y}{9} & = & rac{45}{9} \ y & = & 5 \end{array}$$

The answer is 5.

Example 5

Solve for "*a*" in the following equation.

$$5(a+3) + 6(a+1) + 8a = 40$$

First, apply the distributive property to the left side of the equation.

$$5(a+3)+6(a+1)+8a = 40$$

 $(5 \times a)+(5 \times 3)+(6 \times a)+(6 \times 1)+8a = 40$
 $5a+15+6a+6+8a = 40$

Next, add the like terms on the left side of the equation.

$$5a + 15 + 6a + 6 + 8a = 40$$

 $(5a + 6a + 8a) + (15 + 6) = 40$
 $19a + 21 = 40$

Then, subtract 21 from both sides.

$$\begin{array}{rcrcrcrc} 19a+21 & = & 40 \\ 19a+21-21 & = & 40-21 \\ 19a & = & 19 \end{array}$$

Then, divide both sides of the equation by 19.

$$\begin{array}{rrrr} 19a & = & 19\\ \frac{19a}{19} & = & \frac{19}{19}\\ a & = & 1 \end{array}$$

The answer is 1.

Review

Distribute and combine like terms and then solve each equation.

1. x + 8(x + 2) = 522. 2y + 6(y + 3) = 343. 4y + 2(y - 2) = 84. 9y + 3(y - 6) = 305. 6(x + 2) - 4x = 306. 3(y - 1) + 2(y + 3) = 137. 4(a + 3) - 2(a + 6) = 208. 6(x + 2) - 4x + 6 = 369. -9(x + 3) + 4x = -210. -4(y + 3) - 2y = 2411. 4(a + 2) - 9 = 1112. -8(y + 2) - 16 = 1613. 5(a + 4) - 6a + 1 = 1214. x + 3x + 2x + 3(x + 1) = 3015. 2x + 4x + 6x - 2(x + 3) = 34

Review (Answers)

To see the Review answers, open this PDF file and look for section 3.7.

Vocabulary

Language: English -

Term	Definition
Associative Property	The associative property states that you can change the groupings of numbers being added or multiplied without changing the sum. For example: $(2+3) + 4 = 2 + (3+4)$, and $(2 \times 3) \times 4 = 2 \times (3 \times 4)$.
Commutative Property	The commutative property states that the order in which two numbers are added or multiplied does not affect the sum or product. For example $a+b=b+a \det$, $a+d,$ $a+b=b+a \det$, $a+b=b+a dt$,
distributive property	The distributive property states that the product of an expression and a sum is equal to the sum of the products of the expression and each term in the sum. For example, $a(b + c) = ab + ac$.
like terms	Terms are considered like terms if they are composed of the same variables with the same exponents on each variable.



[object Object]